


            
  

 
2222   9999 

   :160  
     :150  

  

      

2  20  20 -1  15  5-3  

  2  1030-21  
15  8-6  

  2 ( )  10  40 -31  

  2   1050 -41  10  10 -9  

 2   10  60-51  10  11  

  10  70-61  10  12  

2  20  90-71  30  14 -13  

 2  20  110 -91  20  17-15  

2  
  10  

130 -111  30  20 -18  
  10  

2  20  150 -131  20  24 -21  

   150    160    

  
   

   (  )  
  

       :  923  
 :0216463



5 -2299                               : 3  

1-      
) (  : ) (   : ) (   : ) (  : )(  : ) (  : ) (  :

1(   2(   3(   4(   
2-        

 : ) ((  : ) (  : ) (  : ) (
) ((  : ) (  : ) (   : ) (   :
) ((   : ) (  : ) (  : ) (  :

) (  : ) (: :  ) ((  : ) (     
1( –   2( –   3( –   4( –   
3-  »    «     

1(        2(      
3(         4(      
4-    

1( .      .                  
2(                 .  
3( .                       
4(           :           .      
5-       

   /       (  
      (   /   

  (      /   
     (      / 

1( –    2( –   3( –   4( –   
6 - »«       

1(        /          
2(       /        
3(          /     
4(            /         

        
       )2(  10:     

         10         
               10   
           

2
  

  
    

  )
(  
87111  

15

 10    10  



5 -2299                               : 4  

7-         
1(      /          )    (    :  
2(             /   (       :    )   
3(   :    )        /        (    
4(           /    (    :   )    
8-    »«

1(        /         
2(          /    
3(                /    
4(        /            
9-         »  «     

(       /      
 /         (    

(      /      
     /        (

1(      2(      3(      4(      
10-      
1(  ( )      /         
2(     / ( )     
3(       ( )        /   
4(       ( )         /    
11-         
» /  «
1(        2(      
3(      4(      
12-      » « 
1(     /       
2(        /         
3(         /            
4(         /            
13-         »    « 

  (     /  
 (   /       

  (       /     
          /          (

           /          (  
1(     2(       3(       4(       



5 -2299                               : 5  

14-     ...   »        .    «
1(        /        
2(        /        
3(   /         
4(         /       
15-       »             «  .... 

1(          /  
2(           /   
3(      /         
4(       /         
16-  »      /      «   
1(   /              
2(      /        
3(      /      
4(      /       
17-     
1(             /    
2(       /         
3(       /           
4(          /           
18-       
1(     /       
2(     /      
3(     /         
4(     /      
19-     
1(         /            
2(      /          
3(         /          
4(        /        
20-     
1(  /             
2(         /    
3(     /       
4(           /      
  



5 -2299                               : 6  

  
  

 :)21- 26(  
21-»        !  :«  

1(                !    

2(               !  

3(             !  

4(                !     

22-»   !:«  
1 (           !  

2 (             !    

3(   !  

4 (                 !  

23-»!                 :«  
1(           !         

2(                  !       

3(             !        

4(               !         

24- :    
1 (  ! :    !  

2 (! :   !  

3 ( !:   !  

4 (! : !  

25-: 

1 (     :!  !     

2   (!            :  !

3   (:!      !   

4 (        :!  !      

        
       )  2(  10:     

       10       
           10   
        

 215

    
     

 4363   10    10 



5 -2299                               : 7  

26-»      !      «:  
1  (    !  2( !           

3( !           4        (!  

27-   :    
1 ( :     !  2 ( : !        

3 ( :   !  4 ( :   !         

28-  :    
1 (  !  2 (      !  

3      (  !  4 (!          

29-  :    
1 (    = !!    2 (!     =!       

3 (!     =!      4 (!     =!        

30-:   
1 (  !         2   (  !  

3 (    !      4!         (

 :)31- 33(  
31-»  «: 

1 (    !  

2(        !  

3(    !

4 (  !  

32-»        !    «: 
1(           !               

2 (           !        

3 (                        !  

4 (                  !     

33-  :
1 (                          :!!  

2(         :!              !      

3 (              :!             !    

4(      :!            !    

2-( ) 



5 -2299                               : 8  

34-»« :   
1 (!  2( !  

3(   !  4 ( !  

35-  :(  )       
1 (  » «!        2 (    » «!    

3 (» «      !     4 (» « » «!       

       :   )40-36(  
»  .                    (  : )    

 !                    !    
  !      !                  :   

   …   !   :             !      
     !       !      .        

    !  «  

36-        …

1 (    !  2 (!          

3 (   !       4 (    !    

37-      :
1 (  !         2 (!           

3 (      !      4 (        !  

38-  (   ) :
1 (     !        

2 (         !  

3 (          !  

4(          !     

39-     …

1 (     !      2 (      !     

3 (!         4 (!         

40-  :        »  !       !  «  
1 (  :      2 ( /      :

3 (  :  »«    4 (  : /   
  



5 -2299                               : 9  

41-  ( )         ( )       
1 (    –            ( )      

 .       
2(       -  ( )              

.       
3(      –        ( ) .     ( )     
4 (    – .     ( )          ( )  
42- »      «»      «    

   
1 (»        « -»   «  2 (»        « -»   «  
3 (»      « -»   «  4( »      « -»   «  
43-       ( )         

1 (       ( )          .    
2 (     ( )        .     
3 (        ( )     .           
4 (    ( )     .        
44-     ( )               ( )      

1 ( .      –          .  
2 ( .     –       .  
3 (       .–       .    
4 (       .–        .    
45-           )   (

- .               
-        .    
-  .      
1 (   ( )–      –     
2 (   ( )–   –        
3 (      –   –        
4 (     –      –       
46-              ( )          ( )    

 
1 (–       2 ( –     
3 (–       4 ( –       
47-             ( )       ( ) 

      
1 (    –      2 (    –         
3(     –         4 (    –      

       
       )   2(  10:     

     10         
             10   
         

     
 )

   
    

   
  (

 85106  
 10    10  

  210



5 -2299                               : 10  

48-           
1 (      –        
2 (     –      
3 (    –         
4 (    –      
49- »   «»      «     ( )

   
1 (      –      
2 (      –     
3 (   –     
4 (  –      
50-       ( )       ( )              

   
1 (     –  ( )      2 (     –  ( )      
3 (     –  ( )       4 (     –  ( )       
  

  
  

 
PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 

sheet. 

51- We have met some really nice people since we … to this quiet and peaceful neighborhood. 
1) have moved 2) moved 3) are moving 4) were moving 

52- You’d better know that I … to go … since I came home. 
1) decided-shopping  2) have decided-shop 

3) decided-shop   4) have decided-shopping 

53- My teacher has dropped a few hints that he will have no choice but to let my parents know if I 
don’t attend the classes ......................................................................................................................... 

1) commonly 2) importantly 3) regularly   4) usefully 
54- The decision which led to serious problems was based on the … information given by the young 

university students.  
1) recreational 2) homeless 3) powerful 4) incorrect 
PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 

on your answer sheet. 

Louis Braille …(55)… the Braille system in 1821. Blind people use this means of communication 
widely to read and write. Blind people read Braille by moving ...(56)… and feeling the letters and 
numbers. Louis Braille became blind himself at the age of three. He developed the system in order 
to improve the books blind people used at school. He …(57)… a code he got from a soldier and 
made it simple so that everyone could learn it. 

        
       )  2(  10:     

   10         
       10   
    

  2 10
 A Healthy 
Lifestyle 

(Vocabulary 
Development, …, 

Writing) 
 6177  

 10    10  
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55- 1) imagined 2) cured 3) created 4) influenced 

56- 1) over a little cells their fingers 2) their fingers over a few cells  

 3) a little cell  their fingers over 4) over a few cell their fingers  

57- 1) changed 2) produced 3) increased 4) confused 

PART C: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 

on your answer sheet. 

We all know that high blood pressure is one of the most dangerous side effects of stress, as well as a 

huge risk for heart diseases. However, it’s hard to be stressed when you’re laughing. Researchers 

have studied if laughter can decrease blood pressure or not. There are more than a few studies that 

show a decrease of blood pressure after laughter such as a 2017 study in the Journal of Dental and 

Medical Research. 40 patients listened to CDs of comedy comic shows for sixteen 30-minute sessions 

for the research over eight weeks, and researchers saw a decrease in their blood pressure. 

   Another study found that three one-hour laughter therapy (cure) sessions improved the depression 

and also negative emotions of cancer patients. In addition, a big laugh uses about the same energy as 

walking more than half a mile. They also found that laughing makes the heart beat faster and makes 

the blood vessels wider. It can also attract others’ positive attention.   

   These days we hear this sentence a lot that laughter is a medicine itself, and it seems that there are 

some scientific truths to this idea. After all, I don’t think that laughter has any harm, and according 

to the facts we mentioned, it can fill us with joy and health. So, let’s have a smile on our faces and 

laugh it up, at least for our health. 

58- What is the best title for the passage? 

1) Positive and Negative Effects of Laughter 

2) Research Projects Related to Laughter and Illnesses  

3) Laughter Is a Kind of Doctor 

4) Laughter Therapy for Cancer and Depressed Patients 

59- The pronoun “it” in paragraph 3 refers to … . 

1) joy 2) smile 3) harm 4) laughter 

60-  We can understand all of the following from the passage EXCEPT that .....  

1) 180 minutes of a laughter therapy can help someone with depression 

2) we can lose weight by laughter  

3) laughter can increase a person’s popularity 

4) because of the faster heartbeat after laughter, laughing is harmful to our health 
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)1614H(C C) : kJ .mol; 159H(F F), 450H(C F)(   
2 4

2 2 4
2 2

2 4 2 4

2 680
2 2 52

2 537
6 2 4

I) C(s) F (g) CF (g) H kJ
II) C(s) H (g) C H (g) H kJ
III) H (g) F (g) HF(g) H kJ
IV) C H (g) F (g) CF (g) HF(g) H ?

  

1 (151    2 (5/113    
3 (5/99    4 (133      
140-       2 6 66 3C(s) H (g) C H (l) 

  

  6 6C H (l)  2H (g)  C(s)  
1  (kJ .mol )  3270  286  393 5/  

1 (51+    2 (51-    
3 (75-    4 (75  +  

O

O

O

O

(I) (II)



)5(-2299       :23

141-          4 4P   »4 2 4 10P (s) O (g) P O (s)«    
  

4 2 2 3 4 1

2 2 2 2

4 10 2 3 4 3

1 6 8 4
12 2 12

3 6 4 4

) P (s) H (g) O (g) H PO (aq) H a kJ
b) H O(l) H (g) O (g) H kJ

c) P O (s) H O(l) H PO (aq) H kJ

  

1 (4 2
4

a b c    2 (3 2c a b    

3 (4 2a b c    4 (2
2

c a b  

142-        »2 2 2 5N (g) O (g) N O (g)«   20      

 1      ) 25L .mol(.

2 2
2 2 2 5

2 2

2 2 141
4 2 110

2 180

I) NO(g) O (g) NO (g) H kJ
II) NO (g) O (g) N O (g) H kJ
III) N (g) O (g) NO(g) H kJ

  

1 (5/332    2 (8/168    
3 (8/212    4 (266  
143-    

  
1                          ( 

      .  
2                    ( .     
3Zn    ( 4CuSO            .  
4             (         

     .  

144-(II)               0    ) 25 C(.
 (0 02/4CuSO    

STP      (  
        (  

      (  
1 (3  2 (1  3 (4  4 (2  

145-              201   0 15/ mol .min  

65 98/             112 16(C , O : g .mol )

3 2 2 22CaCO (s) HCl(aq) CaCl (aq) CO (g) H O(l)   
1 (32/65    2 (88/64    
3 (55/64    4 (66/64    



)5(-2299       :24

146-    3KClO    10    10          
10 8/ g .L  3KClO    )      .  

116O : g .mol      3                                           (.3 22 2 3KClO (s) KCl(s) O (g)  
1 (0 2/    2 (0 1/    
3 (0 8/    4 (0 4/  
147-                 

130 20(A , B : g .mol )                         2 3A B  
  

0 05/  0 055/  0 075/  0 11/  0 2/  0 4/  A    
25  20  151050(s)

  

»………   …. «  
  (-A- 5 10- 7/2   

  (-B- 1525- 0 5/  
  (-A- 025- 7  
  (-B- 0 25- 10 5/  

1 (4    2 (3    
3 (2    4 (1   
148-      400         .5/2          88/3 

1       .   mol .min )75 %     .    .
165 108Zn , Ag : g .mol( 

3 3 2Zn(s) AgNO (aq) Ag(s) Zn(NO ) (aq)  
1 (0 002/    2 (0 004/    
3 (0 008/    4 (0 016/  
149-           2 76/15 3KNO  0 3/      

             1      mol .s) .       
114 16 39N , O , K : g .mol (

3 2 2 24 2 2 5KNO (s) K O(s) N (g) O (g)   
1 (400 001/    2 (500 01/    
3 (400 01/    4 (500 001/  

150-STP    (  )       1  0 2/ L .s       2   
(.        )          

)116 1O , H : g .mol (
4 2 3 270 4P (s) Cl (g) PCl (g) H / kJ  :  

2 244H O(l) kJ H O(g)  :  
1 (0 04/      
2 (0 03/    
3 (0 02/      
4 (0 01/  
  


